B ZmCMT3b
@ OsCMT3

@ OsCMT1
—— % AtCMT1

L @ RcCMT1
—— A DoCMT3

L— A DoCMT1
W AtCMT3

—— 7% SICMT3

0)

L sicvMT2 2
A SmCMT3 |

_: ‘ OsCMT2
A CWCMT2

A DOCMT2
A SMCMT2b

_:. RcCMT2

% AtCMT2

_:A SmMCMT?2a
77 SICMT4

A SMCMT1
* AtMET2b
% AtMET3

* AtMET1
—— A SmMET1

L ¢ SIMET1
—— /\ CWMET1

13N

L A DOMET1
@ OsMET1A

— @ OsMET1B
B ZmMET2
/\ CWDNMT
A DODNMT2

1ANd

@ RcDNMT2

¢¢ SIDNMT2
—— ¢ SIDRMS
L @ RcDRM3

A SMDRM2

w AtDRM3
B8 ZmDRM3

A DoDRM3
_:. OsDRM1la

@ OsDRM1b

@ OsDRM2

B ZmDRM2

A DODRM?
________ \ CWDRM2
_:* AtDRM1

w AtDRM2
@ RcDRM1

@ RcDRM?2
A SMDRM1

¥ SIDRM6

_:ﬁ SIDRM5
¥ SIDRM7




